



MAPLETON
U T A H

City Council Staff Report

Date:

September 18, 2024

Prepared By: Logan Miner,
Parks and Recreation Director

Public Hearing: N/A

Attachments:
Resolution
Proposal

REQUEST

Resolution authorizing the Parks and Recreation Department to purchase and install new security cameras within facilities and parks.

BACKGROUND & DESCRIPTION

In recent years, Mapleton City has experienced several instances of vandalism in our parks and facilities resulting in damage and creating safety concerns for the public. Additionally, our Towne Square, which houses important historic artifacts, is vulnerable to potential damage or theft. These incidents have highlighted the need for increased security across our public spaces.

Currently, the City does not have adequate surveillance in place to deter or monitor these activities. With the recent addition of MCN, we are able to have a reliable and secure deterrent at each public facility and park.

To address these issues, we propose installation of security cameras in key locations. This will help secure and protect our public spaces from potential vandalism. The cameras would provide 24/7 monitoring and serve as both a deterrent to potential vandalism and a tool for investigating any future incidents.

This camera system will be installed and maintained under our current IT service agreement, ensuring seamless integration into the city's existing infrastructure. Monitoring will also be handled by our IT and Mapleton City staff.

RECOMMENDATION

Staff recommends approving the resolution authorizing the Parks and Recreation Department to purchase and install new security cameras within facilities and parks in the amount of \$53,000.

RESOLUTION NO. 2024-

CONSIDERATION OF A RESOLUTION AUTHORIZING THE PURCHASE AND INSTALLATION OF SECURITY CAMERAS IN CITY FACILITIES AND PARKS.

WHEREAS, Mapleton City is committed to maintaining the safety and security of its public facilities, parks, and historic assets; and

WHEREAS, the City has experienced ongoing incidents of vandalism in its parks, resulting in property damage and increased safety concerns; and

WHEREAS, the Towne Square, which houses valuable historic artifacts, is also in need of protection from potential theft or damage; and

WHEREAS, the installation of security cameras would provide 24/7 monitoring, serving as a deterrent to vandalism and enabling better investigation of incidents; and

WHEREAS, these security cameras will be installed and monitored under the City's current IT service agreement, ensuring integration with existing infrastructure and proper oversight;

NOW THEREFORE, BE IT RESOLVED by the City Council of Mapleton, Utah, to authorize the purchase and installation of security cameras in City facilities and parks in the amount of \$53,000

PASSED AND ORDERED PUBLISHED BY THE CITY COUNCIL OF MAPLETON, UTAH, This 18th, Day of September 2024.

Dallas Hakes, Mayor

ATTEST:

Camille Brown
City Recorder



Rock Mountain Technology
P.O. Box 51521
Provo, UT 84605 US
accounting@rmts.co
www.rockmountaintech.com

Estimate

ADDRESS

Camille Brown
Mapleton City
125 E 400 N
Mapleton, Utah 84664
United States

ESTIMATE # 3808**DATE 08/21/2024**

	QTY	RATE	AMOUNT
--Harvest View Park Event Center--			
--Exterior--			
Verkada-CM41 Verkada CM41 Mini Dome Camera	3	689.31	2,067.93T
Verkada-LIC-3Y Verkada 3-Year Camera License	3	378.81	1,136.43T
Verkada-CH52 Verkada CH52 Multisensor Camera	1	2,483.31	2,483.31T
Verkada-CH52-3Y Verkada 3-Year CH52 Multisensor Camera License	1	1,137.81	1,137.81T
Verkada-ACC-MNT-CORNER-1 Verkada Corner Mount	1	137.31	137.31T
Verkada-ACC-MNT-XLARM-1 Verkada Large Arm Mount (PTZ)	1	109.71	109.71T
Verkada-ACC-MNT-8 Verkada Pendant Cap Mount	1	47.61	47.61T
--Interior--			
Verakada-CM42 Verkada CM42 Indoor Mini Dome	2	482.31	964.62T
Verkada-LIC-3Y Verkada 3-Year Camera License	2	378.81	757.62T
Cable Work Network cabling runs for cameras in Reception Hall (interior), Entry (interior), and NE corner (exterior)	3	484.00	1,452.00

	QTY	RATE	AMOUNT
Cable Work Make use of previously run lines. Re-route and re terminate, test and label for cameras: South Entrance, West Side, NW Corner	3	198.00	594.00
Cable Work Install new cameras, test, and finalize viewing angles	6	121.00	726.00
Cable Work Remove old camera product and installation materials	1	308.00	308.00T
			Subtotal: 11,922.35
--Harvest View Park Pavilion--			
Verkada-CM41 Verkada CM41 Mini Dome Camera	2	689.31	1,378.62T
Verkada-LIC-3Y Verkada 3-Year Camera License	2	378.81	757.62T
Verkada-CH52 Verkada CH52 Multisensor Camera	1	2,483.31	2,483.31T
Verkada-CH52-3Y Verkada 3-Year CH52 Multisensor Camera License	1	1,137.81	1,137.81T
Verkada-ACC-MNT-CORNER-1 Verkada Corner Mount	1	137.31	137.31T
Verkada-ACC-MNT-XLARM-1 Verkada Large Arm Mount (PTZ)	1	109.71	109.71T
Verkada-ACC-MNT-8 Verkada Pendant Cap Mount	1	47.61	47.61T
Cable Work Network cabling runs for cameras on NW corner, Inside pavilion, and on S Side Wall	3	286.00	858.00
Cable Work Install new cameras, test, and finalize viewing angles	3	121.00	363.00
Cable Work Install switch in closet and connect camera runs	1	77.00	77.00
			Subtotal: 7,349.99
--Heritage Park Museum--			
Verkada-CF81-30E Verkada CF81-E Outdoor Fisheye Camera	2	1,379.31	2,758.62T
Verkada-ACC-MNT-7 Verkada 30 Degree Angle Mount	2	0.01	0.02T
Verkada-CM41 Verkada CM41 Mini Dome Camera	2	689.31	1,378.62T
Verkada-LIC-3Y Verkada 3-Year Camera License	4	378.81	1,515.24T

	QTY	RATE	AMOUNT
Verkada-CH52 Verkada CH52 Multisensor Camera	2	2,483.31	4,966.62T
Verkada-CH52-3Y Verkada 3-Year CH52 Multisensor Camera License	2	1,137.81	2,275.62T
Verkada-ACC-MNT-CORNER-1 Verkada Corner Mount	2	137.31	274.62T
Verkada-ACC-MNT-XLARM-1 Verkada Large Arm Mount (PTZ)	2	109.71	219.42T
Verkada-ACC-MNT-8 Verkada Pendant Cap Mount	2	47.61	95.22T
Cable Work Network cabling runs for cameras on SE corner and West side above door	2	418.00	836.00
Cable Work Install new cameras, test, and finalize viewing angles	2	121.00	242.00
Cable Work Network cabling run for camera on SW corner	1	418.00	418.00
Cable Work Install new camera, test, and finalize viewing angles	1	121.00	121.00
Cable Work Network cabling runs for cameras on SW corner, Front porch, and NE corner	3	484.00	1,452.00
Cable Work Install new cameras, test, and finalize viewing angles	3	121.00	363.00
			Subtotal: 16,916.00
--Memorial Hall--			
Verkada-CF81-30E Verkada CF81-E Outdoor Fisheye Camera	3	1,379.31	4,137.93T
Verkada-LIC-3Y Verkada 3-Year Camera License	3	378.81	1,136.43T
Verkada-ACC-MNT-7 Verkada 30 Degree Angle Mount	2	0.01	0.02T
Verkada-ACC-MNT-CLIP-1 Verkada Tile Clip Mount	1	68.31	68.31T
Verkada-CH52 Verkada CH52 Multisensor Camera	1	2,483.31	2,483.31T
Verkada-CH52-3Y Verkada 3-Year CH52 Multisensor Camera License	1	1,137.81	1,137.81T
Verkada-ACC-MNT-CORNER-1 Verkada Corner Mount	1	137.31	137.31T
Verkada-ACC-MNT-XLARM-1 Verkada Large Arm Mount (PTZ)	1	109.71	109.71T

	QTY	RATE	AMOUNT
Verkada-ACC-MNT-8 Verkada Pendant Cap Mount	1	47.61	47.61T
Cable Work Network cabling runs for cameras on North entrance, West wall, Center of Gym, and SE corner	4	418.00	1,672.00
Cable Work Install new cameras, test, and finalize viewing angles	4	121.00	484.00
			Subtotal: 11,414.44
--Maple Grove Park--			
Verkada-CH52 Verkada CH52 Multisensor Camera	1	2,483.31	2,483.31T
Verkada-CH52-3Y Verkada 3-Year CH52 Multisensor Camera License	1	1,137.81	1,137.81T
Misc-Mount Hikvision RPM Universal Roof Parapet Mount	1	109.95	109.95T
Cable Work Network cabling run for NE corner mounted camera	1	418.00	418.00
Cable Work Install large arm / extended camera mount	1	176.00	176.00
Cable Work Install new camera, test, and finalize viewing angles	1	121.00	121.00
			Subtotal: 4,446.07

Below named hereby orders the Services shown for the costs and term indicated subject to the Master Service Agreement (MSA) between Customer and Rock Mountain Technology (RMT). The person executing this Order hereby swears and warrants by his/her signature that s/he is authorized and has legal capacity to order on behalf of Customer and to bind Customer to the costs and terms of this Order. This Order, its attachments, and Customer's related MSA comprise the entire agreement of the parties regarding the Services ordered by Customer and there are no other agreements or representations of the parties that are contingent hereto or not expressly stated herein. This Order shall be binding only upon written acceptance by an officer of RMT authorized to accept Orders. By executing this Order, Customer acknowledges that it has read the attached MSA and SLA and agreed to be bound by the terms and conditions thereof. Unless otherwise stated costs do not include installation or warranty work.

SUBTOTAL	52,048.85
TAX	0.00
TOTAL	\$52,048.85

Accepted By

Accepted Date